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QUESTION 1

Which scenario does NOT require intraquery parallelism? 

A. The execution of the LOAD command against an empty column-organized table. 

B. A DML operation that references a populated column-organized table. 

C. The execution of the RUNSTATS command against a populated column-organized table. 

D. The addition of a primary key constraint to an empty column-organized table. 

Correct Answer: D 

 

QUESTION 2

Which statement about expression-based indexes is true? 

A. The RUNSTATS command cannot be used to collect statistics for expression-based indexes. 

B. Expression-based indexes must always be defined as UNIQUE to prevent duplicate index keys. 

C. Expression-based index keys consist of a concatenation of one or more specified table columns. 

D. The index key values of expression-based indexes are not the same as the values in the corresponding table
columns. 

Correct Answer: D 

 

QUESTION 3

If the following commands are executed successfully: 

Which SQL statement will fail? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

What will cause the creation of a column-organized table to fail? 

A. Setting the database code set to UNICODE. 

B. Setting the DFT_DEGREE database configuration parameter to ANY. 

C. Setting the AUTO_RUNSTATS database configuration parameter to ON. 

D. Setting the UTILJHEAP_SZ database configuration parameter to at least 1.000,000 pages. 

Correct Answer: C 

 

QUESTION 5

What type of table can be converted into a column-organized table with the db2convert command? 

A. A range partitioned table 

B. A materialized query table 

C. A row-organized user table 

D. A declared global temporary table 

Correct Answer: A 
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